
1eres - ch3 - 2nd degré partie 2
Exercice 1

x2 + 2x− 15 = 0 3x2 − 5x+ 7 = 0

3x2 − 24x+ 48 = 0 −4·x2 − x+ 3 = 0

Exercice 2

3x2 − 5x+ 6 = 0 3x2 − 24x+ 48 = 0

x(x− 2)(x+ 1) = (x− 2)(−7− 3x)

Exercice 3
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Exercice 4

P
P (x) = 3x3 + x2 − 8x+ 4

a b c
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Exercice 5

f
f(x) = 4·x3 − 18·x2 + 16·x− 4
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Exercice 6
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où α et β sont
les deux racines du polynômes

x2 − 3x+ 2 −2x2 − 2x+ 4

−x2 + 2x− 1 4x2 + x+ 3

Exercice 7
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Exercice 8

3x2+4x−4 −4x2+2x+6 2x2+11x+5

Exercice 9

x2−3x+2>0 x2−x−2<0 −9x2+12x−4!0

Exercice 10

5x2+4x−1<0 −4x2+2x+2"0 −x2+x−3>0

Exercice 11

P = 3x3 + 5x2 − 5x+ 1

P

P =
(
3x− 1

)(
a·x2 + b·x+ c

)
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Exercice 12

f R
f(x) = −x2 − 2x+ 3

Cf

f
(
O ; I ; J

)

-5 -4 -3 -2 -1 2 3I

-1

2

3

4

J

O

Cf

g
g(x) = −x+ 1

(d)
g

f(x)− g(x)

Cg Cf

R

Exercice 13

f g R
f(x) = x2 − 6·x+ 7 g(x) = 2·x2 − 2·x+ 2
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Exercice 14
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Exercice 15
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Exercice 16
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